n  A026741(n)

spiral periodic of integer Spiral length ratio: L{m)/L(1)
circle center m+ L(1)| L(2)] L(3)| L(4)| L(5)| L6} L(7)| L(8)] L(9)| L(10)
2 3 1| 23| 37 s| 63| 77 9103|117 13
3 2 1| 25 4| 55 7] 85| 10|115] 13| 145
4 5 1| 26| 42| s8] 74 9)106]122[138| 154
5 3 1| 27| a3 6| 77| 93| 11]127[143 16
6 7 1| 27| 44| 61| 79| 96[113| 13]|147| 164
7 4 1| 28| 45 63 8| 98[115[133| 15| 1658
8 9 1| 28| 46| 63| 81| 9.9[117]134]152 17

L)L) =1
L(2)L(1) =%=2.333...

2 Circle centers spiral

. L(3) = 21Pi - 10Pi = 11 Pi L -4
Rotsion(n) Spiral lengh (A014105+P) (3)L(1) =4 =3.666...
1 i+ 2t 3P0 L(4) = 36Pi - 21Pi = 15 Pi - i pi
2 :‘ + zﬂ.‘awqp 10Pi @ L@)/L(1)=%=5 3 Circle centers spiral
3 pias2ednasses) = 21pi - o
Rojon(n)  Spiral lengih (A049451°)
T TR

2 1a+p0
3 0P

5 Circle centers spiral

4 Circle centers spiral
Botaion(n) Spirallengih (A202603'P)
1 G

N 2 22+p
Romont). Spalength (5007142°0) 3 a8+ i
2 18P
3 39°pi
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